) em)

o3 d
H
S

..........................................................................

o(d dz) (cm)‘

S
L

1072

Ratig:

1

0.95 i 5
-3 -2 -1
CMSSW XY Z alINODNNZ2

-1 0 1 2 3
—=— DQM_V0001_R000000001__Global
CMSSW_X_Y_Z__all2

—e— DQM_V0001_R000000001__Global_
—— DQM_V0001_R000000001_Global_CMSSW_X_Y_Z__all75
—— DQM_V0001 R000000001 _Global CMSSW X_Y Z_all7

..........................................................

.........................................................................

o p_/p.)

..........

@0 @) (rad)

....................... wE
Ly [ [ | e 1 Ll [

Rati

0.95 i

o 1 2 3
TP ® (PCA to beamline)

o 1 2 3
TP ® (PCA to beamline)



	Contents
	Page 1


